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Histogram of Total Score

15 B Total Score (count)

10

17.50 30.00 42.50 55.00

67.50 80.00

*  Average Score: 51.74

| am worried about those in this circle



Histogram of question-1 Histogram of question-2 Histogram of question-3

LI
Average: 8.94 aeston Average 6 71 - Average 547
algebra vector algebra
Histogram of question-4 Histogram of question-5 Histogram of question-6
o o o
Average: 6.55 Average: 4.87 astons Average: 7.82
one variable and three variable equations derivative
Histogram of question-7 Histogram of question-8
o o
Average 4.74 wes o Average: 0.71

integration simple differential equation



Histogram of question-9

20 B question-9 (count)

Newton’s second law of motion

0.00 175 3.50 525 7.00 875 10.50

question-9 Average: 2,98

Histogram of question-10

20 B question-10 (count)

10

Momentum and energy conservation

0.00 142 283 425 5.67 7.08 8.50

question-10 Average: 1 .92



